5 stlaia B cilualy

(ol I o 28 A Apas lalat) ) jie )
GJJY\ w\—o‘JJBSJ

el dilae
5l ol ) i

0J3J§é Cyd O uilas
2166 Jg¥ Jaadll



Al

Sl A hasds oamlall o al e cilinlall) 8 A ) silaiadl alatl) 5 ) 5 Chnd gl
(ilaaly yll g aslall 8 Adhall Sl (alids) dglaal 1S el i gl alad¥)
galiall lubads € 5e sk Jaall elli olad (4 dadiie Sl e ol
gonsaill A G salall Jade aaiad ) g 23 gail) 45y Hla il 8 () silaiul)
e sl (5 s salal il g 235805 o il I ol b 3 paall ]

33 yaall iy 1 asalia aled e 3Ol e Lusdl




) sl sl ) Al

pga 9A Lo 4818 a3) ¢ L;)';S(\ u_u]\.».uY\ e labid 4 Singapore Math Jas L..SM\ S sinall ypud
OV ¢ Ao sl Al Bacll 5 g () 50 43l agd e Singapore Math S 4w )3 cang (2
s o Tadad SV alailly eV Gl Ladie ¢ i (s (e 33N e o 508 OBUall ) S,
Slualy Hll 8 e

S aseia L die 4l 8 kil dga s Jiat Aasse oAl Lpabety ) Al el
i dale) (Sans b beall Y Ol dala cua Gl o KN ol G agall (e ¢ Bles

rz3

ezl 8 ) ey ) iy Las e a0 1) ABL) ol gl

G salall (o JaEh 2063 3 aalial) ) ety adhy o ghad EUOE (e Lalat 123 gad 48y ylall aadis
o Gl aala 2y (4 siSall ca¥alaall Ja g Gl saial) Lo jad ST ) &8 G el dial) )
Gamy 13 Ll (ST L iy all) A8 46 jaal Ladd




JEAN PIAGET
ZOLTAN DIENES
LEV VYGOTSKY
RICHARD SKEMP

JEROME BRUNER

5y s8lain 8 Cluzaly I gﬂj#g@w\ b el

Silallaall & Jishs S < 0 QO Fland) YA e 1 dsal Gla 4 l5
(Alsh 5l L Jalal oy dpuibial daga) saal) HISAY) Clagind ) J seasll Jal 0
alaill J8 LIS IR e Y gl Fanny s Ayl SEY) ol ;30 o1 4 R

alaidl
e sana b alaill gl 3 glatll adatl) 1St o Ay Jaies
Jid agd Jal (e BNl agh o 58 il ot 3 LS ) 4y i

s (g atl aleil) ) aelisd A pale oo GO 5 30 139 pges Ay laie
.;M.. L8



A gl any alddiudy cilualy ) Jifiad Jaladl

Zase am) aladiuly sl Blas Jaal Lulld Llal e ) Ll 3 (2014) Morin (y)5e <)l S
«Multiplicative Compare 3114l 43ladl «Compare 43)laall «Group aueaill (Change yaill : a <Model Drawing
Multistep ~ culshall aaeie »)hlls aeally (Ratio 4.all (Proportion wlall (Part-Whole JSlly o3l Vary ¢l

(Morin, 2{]14) .addition and subtraction

Whole
2

N




Part-Whole Concept :J!is gjal) aggda Nl
Tl Logae DY) dao oS8 L O Lay)l el iy g DU DG daal el : Jlie

Change Concept : ;i) aggia 1 LG
V) 4 el L VL) sally sllae ] L) Ayl @jlae sl 1l

Comparison Concept :45Gall aggia GG
$aSss S Lagal cilan 7 o 218 deas Lai cclazmlyyl) jlas) 3 clayn 10 o el ae Joas :380E) Al

Place Holder Concept :§ )il ;lsall aggda @2,
8 = .o + 5 gl e uliall 2ol aag) 1l




Remainder Concept : 3L aggda :Lals
O5Ss oS8 Nl 400 iy cdiagsl EU Lol T ey bl s Gued adl ey cUyed )y ) et mliy
fopesll 4l

Equal quantities Concept :4 gleiall Ll asgha :ludle

ad Lad YL 30 i A& 4Sle Lee ayh deaf 4Sley Lo 1€ calls 4l Lo Ciad ggluy dead aSla Lo Gudd S 13) 1 b

Tlagie JS asle; L

Repeated Variable Concept : , <iall jaiall aggda :lasle

S Ay 6 RS Ll




Constant Difference Concept :c,lill 3 )il aggda :Gald
(e e Lagia DS aladll (;I:u:!i A ekl sy e Taalyl” Jeasy dayy 14 e "aead’ Jeas cllaody! ) < 1 Jla
Plogio J<0 aladll lallaef 300 o011 3 g5l "ol Aoy (1) "aead’ dapy s Al cann i sl

Constant Quantity Concept :4LUll 4.asl) a5g8a 1laull
tLLIJEM e aeal %Jl _JL.:- 3_)35...41:“ LG_“\iig tiil.‘l;g 10 ;.tuh g.UaDJ! ..‘ul_:j .’.;.1_5!3 L_'ill.l.n.h!i 3.1"}".3 &L‘l_‘ﬁn LJ.A AT c.tuh Lx_;_‘lj :JI&A

S 8 Lagia JS 5l IS S Lelhy e 1)







Joadl) il el e A5

LagalS ) aanell an) 48 e allal 5 Lagin (3l 5 paaell £ sana axy |
A Pl s 5 3 o Ve . . \ t\A
¢l ol 8 i) sae oS Y ) e ST 5 VY lia Vg VY il ol ay (V)]

_
I el

3 w ; p T
€Y 2aall ga Lo jral) a8 e HIST VA g pSYI daall A o8 A8 )l & gana (pad ) A SE

-
| ]




Huh:rm_ |

A T |

J3k

| b |

$34

M\&JQ‘QHJJLJ\M@L@A\;‘u@ﬁéﬂ\ngﬂu&w@ \l
A gaaal) adaall alla) 2 ¢ Lagin Baaall
& Jall e dae JO Gapea o)) 22y e adie (e dly Y JB aie 0 ) L, YT Dl e sl (V)Jbe
"M\@dﬁ.ﬁu)\aeﬂﬂdm@@-’uu@a\'\&&ﬂu@q)ﬂd\

3206

— |

After
A (R I e

5t

Before:

206 —34 =172

Bilal: 172/2= 86

Ali : 86+34= 120

After:

6 units =120, 1 unit =20
Bilal spends: 86 — 20 = 66
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' 332 -100 =232 = 4 units
1 unit =232/4 =58
The amount of donation = 100 — 58 =42
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56 —20 =36 =3 units
1 unit=36/3=12
Girls: 12 + 56 = 68
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Salih: 100 * 5 =500
Mohammad: 100 * 4 = 400
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Before: After:
dLaS X . dl-ﬂs X
2 units=30,1unit=30/2=15

Before:
Jamel: has : 15 + 30 =45
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Before:

2 units =30, 1unit=30/2=15

Before:
Kamal has : 15+10 =25, Jamel: has : 25 + 20 = 45
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Salih: 60+50=110
Saeed: 60 +10 =70
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4 units =32, 1unit=32/4=8
Ahmad gives Saad: 8 *3 =24
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3 and 1 make 4.
This is a number bond.
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There are 22 boys and 16 girls in Vicky's class.

~

There are 5 more children in Joshua's class than in Vicky’'s class.

¢ How many children are there in Vicky’s class?
(® How many children are there in Joshua’s class?

o ’

There are children in Vicky's class.

&

Ve

Are there more or fewer
children in Vicky’s class?
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@ 3 and 1 make 4.

This is a number bond.
@ whole

4 and 3 make 7.
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There are 8 beads under the two cups.
How many beads are under 24 ? |
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How many cubes are left? o How many cubes are there altogether?

5 ?
- A v X Wy
?

5+3=7

12 - 7




oY) gl 85 slaiug sl alat 8 dpulil aalis plaiy e 48y 5k

How many biscuits does Weiwei take?

O,
O,

Weiwei takes [ biscuits.
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+ Js¥) caall (e ( Bar Modeling ) il 73 sai 3,88 (]

0 How many cubes are there altogether?
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Ul caall (e (Bar Modeling ) faddl 73 e alaainl O

@ There are 22 boys and 16 girls in Vicky's class.
There are 5 more children in Joshua’s class than in Vicky’s class.

€©) How many children are there in Vicky’s class?
(® How many children are there in Joshua’s class?

o

There are [ children in Vicky's class.

Are there more or fewer
children in Vicky’s class?
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There are children in Joshua'’s class.
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eQrn
“Multiply a 2-digit number by a 2-digit number

@ Multiply 23 by 12.
e 12= 104 2

We can add 23 x 2 and 23 x 10 to find out.

| T

0 23 x 10 = 230 |

23 x 2 =46
23 x 12
- =230 + 46
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23 =20and 12 = 10
- 20 x 10 = 200

23 x 12 = 200

276 is close to 200.

So, the answer is reasonable.

50, 23 X 12 = 276.
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Divide 420 by 5.

420+5=7
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@ Dan drank % a cup of water. Huda drank % cup of water.
How much more of a cup of water did Dan drink than Huda?

Dan |

Huda D:l_-"--?--:

fomy] Fv=q

b-=4 k-
b--4 b--4
e oae o e

b--4 b--14
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40

Yo Mo = A+ A = 8aalgll Saa gl claag A dad Jladsddg tA = 60 - 0Y.
Ady Yoo =0 %1, =ﬂ\4&3°u\§&4’\3\
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(L) S8 Jall

Let Devi’s money be $x, and Minah’s money be $V.
Then x+ y= 520 and gx=y— 40.

Solving the equations for xand J;, we have x=300 and y=
220. Therefore Devi has $300.
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Let Devi’s money be $x, and Minah’s money be $(520 — x).
Then 520 — x—40=:x.

Solving the equations for x, we have x=300.
Therefore Devi has $300.
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40

From the model, we obtain the equation 8 x+ 40 = 520.

Solving the equations for x, we have x= 60.
Therefore Devi has $300.
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3/5b =1/3 (b+8)

3/5b=1/3b+8/3
(3/5-1/3)b=8/3

(9/15 —5/15) b = 8/3
4/15 b = 8/3

4b=40 ,b=10
3/5b=3/5*10=6,g=6,all=12
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110 g

< >

2 units:180/2=90g
3units:90*3=270g
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2 children : 1485 - 1135 = 350

1 child=350/2 =175

2 adults : 1135-175 =960

1 adult : 960 / 2 =480

1 adult + 1 child =480 + 175 = 655
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a) After: Talal has : 98 — 30 = 68, Adel has: 68 * 2 =136
b) Before : Adel has: 98 * 4 =392, he Spends: 392 - 136 = 256 .




	الشريحة 1
	الشريحة 2
	الشريحة 3
	الشريحة 4
	الشريحة 5
	الشريحة 6
	الشريحة 7
	الشريحة 8
	الشريحة 9
	الشريحة 10
	الشريحة 11
	الشريحة 12
	الشريحة 13
	الشريحة 14
	الشريحة 15
	الشريحة 16
	الشريحة 17
	الشريحة 18
	الشريحة 19
	الشريحة 20
	الشريحة 21
	الشريحة 22
	الشريحة 23
	الشريحة 24
	الشريحة 25
	الشريحة 26
	الشريحة 27
	الشريحة 28
	الشريحة 29
	الشريحة 30
	الشريحة 31
	الشريحة 32
	الشريحة 33
	الشريحة 34
	الشريحة 35
	الشريحة 36
	الشريحة 37
	الشريحة 38
	الشريحة 39
	الشريحة 40
	الشريحة 41
	الشريحة 42
	الشريحة 43
	الشريحة 44
	الشريحة 45
	الشريحة 46
	الشريحة 47
	الشريحة 48
	الشريحة 49
	الشريحة 50
	الشريحة 51
	الشريحة 52
	الشريحة 53
	الشريحة 54

